H & 0l & AHS B Ml A

20258 =0ila eI S

M SN2
¥ SSTAME 2(SL 2 /280=
CHlL SAIRODIEAIE NI (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A2 5,869,737 2,492,384 3,377,353
N 118,000
Al 3,029,500
- 2,722,237
SN 2H(2aL2/23H0E) 5,794,057 2,39%4,35% 3,399,701
N 118,000
Al 3,029,500
- 2,646,557
SAZIIBAIE I 4,461,578 338,000 4,123,578
Al 2,911,500
- 1,550,078
ES2S=EEA HA2A2 4 129,538 129,538
201 Ler=23 | 7,570 7,570
01 At2teltl 7,570 7,570
Otz el AL F 1,520,000& 1,520
OkAM 013 & Redelsy
1,600,000& 1,600
ORFID 23t 2& 8502 *1,000& 850
Oscetele 7Y 3,000,000& 3,000
OX2A2 228 FY 600,000 600
401 Al HIZ S OHbI 58,788 58,788
01 A28l 55,306 55,306
OE225 {2 A& X4
55,306,000 55,306
02 2l 2,482 0 2,482
O8528 A2 AZ 2RI SA Zel
2,482,000& 2,482
03 AIZ 2 THYI 1,000 0 1,000
OH&aoe =Xl 8
1,000,000& 1,000
405 AtatE = 63,180 63,180
01 Tt ESF=HI 46,180 46,180
OX2EM2 Zd=3 7 9,830
-gRERC 1,200,000 1,200
- Y28 Z2Uid 250,000 250
- gFE ZelH 3,000,000 3,000
- A=) 3,320,000& 3,320
i F== === 1,650,000 1,650
- HEeeesE)) 410,000& 410
oggd Hols 300,000 ~4H 1,200
ogzd oAX 160,000 *10H 1,600
O=E=(HEH) tioiere)
25,500,000 25,500
OLE=S & HEA 1,100,000 *7H 7,700




2A:

SN2

¥ A2 2(S2Z/280=)
Chel: SAZI|EAIE KA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEH 350,000 350
02 A+l 17,000 0 17,000
OH2EAFLY 17,0002 %1,0002 17,000
A2 A2 X2 38,040 38,000 40
201 fer= 3| 37,000 1,000 36,000
01 At 2|l 37,000 1,000 36,000
2N 22 S WA
1,00021%1,0000H 1,000
OBSEAZ TA 72
450,000 +22| *400H 2~ 36,000
301 EtE N = 1,040 1,000 40
14 DBt 2 a3 1,040 1,000 40
OUAB DT LA 2L
130,000 2 Al 2++4H 1,040
UHsSZ oeloI=sgEstsd(s2de) 24 200,000 200,000 0
Al 100,000
- 100,000
101 @124H| 111,548 109,800 1,748
Al 55,774
- 85,774
M IRINZZENSES 111,548 109,800 1,748
Oo0lglols&2sts2t 290121(3Y) 111,548
-JlEs R, 1602 x2L x 12 +3H 72,991
Al 36,496
- 36,495
- RERLsE 92,1603 »52 23S 14,377
Al 7,188
- 7,189
- AXt=E 9P, 1602 122 +3 3,318
Al 1,659
- 1,659
- SXZEE 300,000 *3& 900
Al 450
- 450
- BE2Y0is 300,000& *22]+3H 1,800
Al 900
- 900
- ElX= 2,550,000 + 13 7,650
Al 3,825
- 3,825
- ALHSESHRYS
31,128,480 #4 . 5%+3H 4,203
Al 2,102
T 2,101




S SARY
M. ZBETAZ 2 (2L 2Z/25H0=)
SR TAIIEAIE K& (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
BT e
31, 128,480& *3.545%*3H 3,311
Al 1,655
- 1,656
Snt-CEEE
31,128,480 *1.75%*3H 1,635
Al 818
- 817
- MRERe3
31,128, 480& *1%*3H 934
Al 467
- 467
- LoEIIRYPEERLS
1,104,000 *12.95%*3H 429
Al 214
- 215
201 LBt AH| 24,860 27,200 A2,340
Al 12,430
- 12,430
01 AFR22teltl 6,660 10,000 N3,340
OE=2 1,200
- S8t 80,0002 = 10JH 800
Al 400
- 400
- b4 40,0002 *10JH 400
Al 200
- 200
Oooelol=g2sts2t 2825 7Y 4,200
- NRES 300,000 %43| 1,200
Al 600
- 600
- ANE2e 22 300,000 *43] 1,200
Al 600
- 600
- ENE2IES 250,000 #43| 1,000
Al 500
- 500
- Helol 2% 2422
200,000& *43| 800
Al 400
- 400
OUE2ME 2SS 1,260
-2 2SS 20,000 x22« 122 480
Al 240




S SARY
M BTN 2 (L2 /25 H0=)
Chel: SAZI|EAIE KA (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
- 240
- &N A== 13,0002 x55+ 123 780
Al 390
- 390
02 2324l 14,200 5,200 9,000
OAE&EH| sXIdI 14,200
- UNEEHEE M |XES
600,0002 x 123 7,200
Al 3,600
= 3,600
- ADESHT SX24
500,000 =12 6,000
Al 3,000
- 3,000
- ANEE RAE= 500,000 & *23] 1,000
Al 500
- 500
03 SAt2GH] 4,000 12,000 A8,000
OOZI0| THat 291 S 2518Al
4,000,000 4,000
Al 2,000
- 2,000
301 LPENSZ 13,000 39,000 A26,000
Al 6,500
- 6,500
14 JIEt2 A3 13,000 39,000 A26,000
ONelol SM2t2E ZAts=Y
130,000 *20F=*53| 13,000
Al 6,500
- 6,500
405 KHaHE S| 50,592 24,000 26,592
Al 25,2%
- 25,296
01 AL = SF = 26,79 20,000 6,792
OCIXE 28 = 24|
26,792,000& *13 26,79
Al 13,3%
- 13,3%
02 M-I 23,800 4,000 19,800
OF2TAZ TAFHI
17,0002 400H 6,800
Al 3,400
- 3,400
OANIEEM2 &MY
17,0002 *500 23| 17,000




S SARY
¥ A2 2(S2Z/280=)
Chel: SAZI|EAIE KA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 8,500
T 8,500
IVHSUE 22 Oel0ISe2a32H(s=nee) 22 100,000 100,000 0
Al 50,000
- 50,000
101 @1A4H| 74,367 73,202 1,165
Al 37,184
- 37,183
04 JIZtN2Z2 XS 2 74,367 73,202 1,165
ONE0I=SEEst32 23 (2Y) 74,367
-JlZ2s R, 1603 x22L « 1204 E +2H 48,661
Al 24,331
T 24,330
- FER<sY 92,1603 x522 x2H 9,585
Al 4,792
- 4,793
- Xt 92,1602 122 *2H 2,212
Al 1,106
- 1,106
- SAEE 300,000&*x2& 600
Al 300
- 300
- BE2d0i= 300,000 x22|x2& 1,200
Al 600
- 600
- ElXz o 2,550,000 x2H 5,100
Al 2,550
T 2,550
- ZLHSESHRES
31,128, 4803 x2H *4. 5% 2,802
Al 1,401
- 1,401
- APAHLESHRYS
31,128,480 2 x3.545% 2,208
Al 1,104
T 1,104
- IE28RE3
31,128,480 x2& *1.75% 1,090
Al 545
- 545
- MHEERES
31,128,480 x2& * 1% 623
Al 312
T 311




2A:

SN2

I DTCHY 2Y(SHUBZ/25002)
Sl TA2I|EAIE X (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- Lo YPEReE
1,104,000& x2EH *12.95% 286
Al 143
- 143
201 et 3| 13,108 13,048 60
Al 6,554
- 6,554
01 At22t2l] 5,888 9,588 23,700
o= 600
- s 80,0002 «5H 400
Al 200
- 200
-t 40,0002 +5H 200
Al 100
- 100
OX2h2 2825 78 4,100
- ANRES 200,000& %42 800
Al 400
- 400
- ANE2e =23 250,000 *23] 500
Al 250
- 250
- EMEeES 200,000 22 400
Al 200
- 200
- Oelol 2% 2E=23
200,000 *23] 400
Al 200
- 200
- 080l =013 50,0002 40K 2,000
Al 1,000
- 1,000
(OFSEPIE PN 34,0002 1294 2 408
Al 204
- 204
ous2d=s 8l 258
13,0003 x5+ 123 780
Al 390
- 390
2 35244l 7,220 3,460 3,760
Oelgdl 23 60,0003 * 12042 720
Al 360
- 360
OAIEEHl |l 6,500




S SARY
¥ A2 2(S2Z/280=)
Chel: SAZI|EAIE KA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
B EEREE =P
500,000 * 122 6,000
Al 3,000
- 3,000
- NEE RAES 250,000 *23] 500
Al 250
- 250
301 LEIE NS 1,560 1,300 260
Al 780
- 780
14 IIEt2d3 1,560 1,300 260
OO0lgl0l SM2sH=E ZA==E
130, 000& *3IH*4 2] 1,560
Al 780
- 780
405 AtatE = 10,965 12,450 1,485
Al 5,482
- 5,483
01 TR ESF SHI 5,865 0 5,865
OUXE 2= 2H]
5,865,000& *12] 5,865
Al 2,932
- 2,933
02 =Xl 5,100 12,450 AT7,350
ONSTHE THRYY]
17,0002 +300& 5,100
Al 2,550
- 2,550
g7 SN 020l SERss2HSHE) =4 3,994,000 0 3,994,000
Al 2,761,500
- 1,232,500
201 er23| 100,000 0 100,000
Al 70,000
- 30,000
01 AtR2t2|HI 100,000 0 100,000
OFA & &J1 01 80,000,000 80,000
Al 56,000
- 24,000
Oolelol=sg=sts2t &4 25 7
20,000,000 20,000
Al 14,000
T 6,000
401 A& HIX R0 3,697,900 0 3,697,900
Al 2,588,530




2A:

SN2

¥ A2 2(S2Z/280=)
Chel: SAZI|EAIE KA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 1,100,370
01 AlZ2H| 3,677,900 0 3,677,900
Oolglo|=g2st3Hsde) &4
3,677,900,000& 3,677,900
Al 2,574,530
- 1,103,370
03 Al 20HHI 20,000 0 20,000
OJf2t=Hl 15,000,000 15,000
Al 10,500
- 4,500
oot sy 5,000,000& 5,000
Al 3,500
- 1,500
405 KHaHE SH 196,100 0 196,100
Al 102,970
- 93,130
01 AL =S F = 196,100 0 196,100
O+ +¢ 170,000,000 170,000
Al 102,970
- 67,030
O MRS SHAIAED]]
26,100,000& 26,100
w=s S3HE S HEt 87,010 63,390 23,620
SNESEH 29 45,180 38,410 6,770
201 2= 4,200 3,180 1,050
01 At22telt] 4,200 3,180 1,050
O=kA2=d% 24 3,450
- YREATH(BATAR)
450,000 *32 1,350
- 2ECAMS 350,000 *32] 1,050
- YN 350,000 *32] 1,050
ONABHAHNETZ Y 29
150,000& %52 750
203 HE=AH] 500 500
03 A= H =AY 500 500
OZx 243t =8 500,000 500
301 EetE NS 40,480 34,760 5,720
14 0Bt 2a3 40,480 34,760 5,720
OSAMEaZ 2AE 30,680
- gREA2 130,000& x205=+52] 13,000
- EEEME 130,000 »8IH+8%] 8,320
- RYZAMS 130,000 *8IH*93] 9,360
Oode st 29 2,000
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A SAZD
I DTCHY 2Y(SHUBZ/25002)
Rl SAEE A =2 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
- 248 2FES 100,000& %42 400
- Azl 28 =28 200,000 %122 2,400
ORY A HAKUME IS 8,640
-A2 PSS 20,0002 x10%+ 128 2,400
- &X 7== 13,0003 »405+ 123 6,240
O A2 Hzd 24 8,514
- RFID SRt e 8502 *4,0000H 3,400
- S|JIE ZgY 2=
22,0002 127K 264
- MAS)| ARS 7Y
150,000& *22 300
- ASzHEH] 22X
250,000 #72f A 1,750
- A48 ExE3 100,000& *42] 400
- A2A 2E =5 200,000& x 122 2,400
ORY A2 S2= MA
5,000 »500H 2,500
odl|gt =58 g 2= 0TTAHIA
169,000 ~12& 2,028
OO0I0IXI HE g 2t =8
560,000 560
Ogx A2 USetEtl K2 12,240
- RRIEAEED B2
180,000 «12& 2,160
- AEEAZ RAIES
840,000 122 10,080
O2EZANZ USeHEHl K2 8,132
- EANSHERYD RAES
218,000& 128 2,616
- RFID XNtSSHAIAE RXIE2
459,6603 + 122 5,516
OS|UTANBIZHEAAE AZER0 2
5,500,000& 5,500
OXAM AIAE F= 5,118,000& 5,118
401 AlEHIZ S 0HbI 20,000 20,000
01 AlIZHI 20,000 20,000
OANIEEZAZ 2USA 20,000
- A g 2HE JHIE 17,000,000 17,000
- HI|S4 HHl SA 3,000,000 3,000
405 KHAHH SH 9,852 334,615 A239,763
01 ML ESFHSHI 94,852 334,615 A239,763
ORE A2 EXDII| 2 3,152
-LES 1,026,000 «2CH 2,052
- HEA 1,100,000 «1CH 1,100
OALIEEAE 5 91,700




M S

M I3 M2 2H(SL2/280=)
ol SATE MG FA EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
- ADIEEAM2 D10
89,900,000 1CH 89,900
- LS (VPN) 1,800,000 *1CH 1,800
SET A A2 HEALY 245,600 254,200 28,600
N 118,000
Al 118,000
- 9,600
101 e124d| 245,600 254,200 /8,600
N 118,000
Al 118,000
= 9,600
VBESEENETEES 245,600 254,200 8,600
OBBEAZ HBARZ HFAI 286,000
- =T AE 20
2,458,000 x4 B 62 22 117,984
Xl 58,992
Al 58,992
- 2oTh 2o
2,458,000 «4H+6E 23] 117,984
N 58,992
Al 58,992
- EI&A 3MEE S 32,0002 32
Xl 16
Al 16
Ossd SXELE 4,800
- XM 300,000 x4 +23] 2,400
- RYZAMS 300,000 x4 +23] 2,400
Og&+d 4,800
- EEEMZ 300,000& x4 H =22 2,400
- YK 300,000& x4 H =22 2,400
SAHEH] 2tel 33,388 72,397 239,009
201 er2 3| 33,388 37,84 A4,506
01 At2teltl 18,544 24,202 Ab,658
OANHE BaZZ e 2
470,000 +2K 940
OEAM2ACIAIAE ATEOIH AIEZ
144,375« 128 1,733
O MZCIAIAE SIS A2 =
200,000 * 122 2,400
ORY A2 Hat 225 2
100,000 *10H 1,000
Og7A2 eI RAIE+ 7,170
- Al RAE+ 72,0003 * 122 864
- EEIMH SN2 76,0003 123 912




2A: EA2
I DRCAHD 2Y(2HURY/25012)
CHelr SARE A EX (ool )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
- S2HAHAIAE RS2+
60,5002 12& 726
- HotAH R 166,000& * 12& 1,992
- UHERZA SN2+ 24,0002+ 128 283
- SHOIX SXE= 199,000+ 12& 2,388
O=ET M2 dAMEH RRIE+ 3,255
- E0tAH RAIEx 88,800 12& 1,066
- HER3a X8 159,800 * 12& 1,918
- GHIAIAE S/W S22
15,6002 122 188
- HAAIAR HW RXI2+
6,900 128 83
O d&EH RII22 2,046
- BotAH - HIERID R+
341,000 62 2,046
02 E2324H| 14,844 13,692 1,152
OgREAZ CIHY SA3E A EZ 9,120
- SHOIX MW ClIEHY SAlgHE AIBE
620,000 123 7,440
- ADIES A2 2IHY S4lsld AIZRE
55,0003 «2CH* 123 1,320
- SOIBID| CIHY Sl AIEZ
30,0002 x 128 360
OFELZAZ Y S4lad AIEZE
390,000 123 4,680
O A2 2IHY Sl AERZ
49,5003+ 12& 5%4
OADIESAE &2
50,0003 <9 450
AL 22| & XHE /X 276,317 440,941 A164,624
201 L2 | 275,817 436,075 A 160,258
01 AtR2telt] 183,400 258,782 AT75,382
OF=D| gtz 4,045
-grEA2 52,0003 «2CH* 123 1,248
- I M2 52,0003 «2CH* 123 1,248
- UM 32,260 x4CH*12& 1,549
OZJI18EI| Xz 4,300
- LM 45,0003 #4CH 12 2,160
- YA 44,5803 +ACH* 128 2,140
OHltgxt= 1,151
- AT M2 19,1702 x50+ 12& 1,151
OFA 28 A28 ¢ 3,600
- RSN (02 BT M)
100,000& *12& 1,200
- UM 200,000& =123 2,400
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